Page: 1/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No Transporter Name** : 03AACCZ3447M1Z3 Vehicle No

Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |   |          |      |      |          |           |      |      | CGST   |      | SGST   |       | IGST     |
|-----|---|----------|------|------|----------|-----------|------|------|--------|------|--------|-------|----------|
| SNo | Description of Goods  | HSN Code | Qty  | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate  | Amount   |
| 1   | Non Hooded Velvet Woven Regular Regular<br>Pull On Closure Solid Light Winter AW-22<br>Beatnik Casual Wear High Neck Full Sleeve<br>Textured None Roll-up Sleeves Mid Fashion<br>Womens Sweatshirts           | 61102000 | 4.00 | PCS  | 719.60   | 2,878.40  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00  | 143.92   |
| 2   | Non Hooded Velvet Woven Regular Regular<br>Pull On Closure Solid Light Winter AW-22<br>Beatnik Casual Wear High Neck Full Sleeve<br>Textured None Roll-up Sleeves Mid Fashion<br>Womens Sweatshirts           | 61102000 | 4.00 | PCS  | 719.60   | 2,878.40  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00  | 143.92   |
| 3   | Three Button Blazer Fleece Woven Hip<br>Length Tailored Fit Button Solid Heavy<br>Winter AW-23 Beatnik Casual Wear Shawl<br>Collar Full Sleeve Textured Buttons Regular<br>Sleeves Mid Fashion Womens Blazers | 61043200 | 8.00 | PCS  | 2,799.60 | 22,396.80 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 18.00 | 4,031.42 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 2/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** 

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |   |          |       |      |          |           |      | (    | CGST   | 9    | SGST   |      | IGST     |
|-----|---|----------|-------|------|----------|-----------|------|------|--------|------|--------|------|----------|
| SNo | Description of Goods  | HSN Code | Qty   | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount   |
| 4   | Two Button Blazer Polyester Woven Hip<br>Length Regular Button Solid Heavy Winter<br>AW-23 Beatnik Formal Wear Notched Lapel<br>Full Sleeve Check Buttons Regular Sleeves<br>Mid Fashion Womens Blazers                                 | 61043300 | 7.00  | PCS  | 2,399.60 | 16,797.20 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 839.86   |
| 5   | Blazer & Pants Poly Moss Woven Longline<br>Regular Button Solid All Weather AW-23<br>Beatnik Formal Wear Peak Lapel 3/4th<br>Sleeve Textured Buttons Roll-up Sleeves<br>Mid Fashion Full Length Button Mid-Rise<br>Womens Western Suits | 62041300 | 14.00 | PCS  | 2,399.60 | 33,594.40 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 1,679.72 |
| 6   | Bomber Polyester Woven Regular Loose Fit<br>Button Self Heavy Winter AW-24 Beatnik<br>Evening Wear Spread Collar Full Sleeve<br>Abstract Quilting Cuffed Sleeves High<br>Fashion Womens Jackets   | 62043300 | 14.00 | PCS  | 1,599.60 | 22,394.40 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 1,119.72 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For Sign:

**Authorised Signatory** 

Name

Page: 3/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** Vehicle No

Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |  |          |       |      |          |           |      | (    | CGST   |      | SGST   |      | IGST   |
|-----|--|----------|-------|------|----------|-----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods   | HSN Code | Qty   | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 7   | Single Breasted Blazer Jacquard Woven<br>Regular Fitted Button Solid Heavy Winter<br>AW-24 Beatnik Casual Wear Notched Lapel<br>Full Sleeve Solid Buttons Regular Sleeves<br>Mid Fashion Womens Blazers        | 62043300 | 10.00 | PCS  | 1,599.60 | 15,996.00 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 799.80 |
| 8   | Front Open Denim Denim Regular Regular<br>Button Solid Light Winter AW-24 Beatnik<br>Casual Wear Double Collar Full Sleeve<br>Textured Buttons Cuffed Sleeves Mid<br>Fashion Womens Jackets                    | 62043200 | 8.00  | PCS  | 1,199.60 | 9,596.80  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 479.84 |
| 9   | Single Breasted Blazer Crepe Woven Hip<br>Length Regular Button Solid Autumn (Pre-<br>Winter) AW-24 Beatnik Formal Wear<br>Notched Lapel Full Sleeve Solid Buttons<br>Puff Sleeves High Fashion Womens Blazers | 62043300 | 4.00  | PCS  | 1,879.60 | 7,518.40  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 375.92 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 4/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** Vehicle No

Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |   |          |      |      |          |           |      | (    | CGST   | 9    | SGST   |      | IGST   |
|-----|---|----------|------|------|----------|-----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods  | HSN Code | Qty  | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 10  | Puffer Nylon Woven Hip Length Fitted Zip<br>Embroidered Heavy Winter AW-24 Beatnik<br>Casual Wear Detachable Hood Full Sleeve<br>Solid Embroidery Regular Sleeves High<br>Fashion Womens Jackets      | 62043300 | 8.00 | PCS  | 1,599.60 | 12,796.80 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 639.84 |
| 11  | Double Breasted Blazer Twill Woven<br>Longline Fitted Button Solid Heavy Winter<br>AW-24 Beatnik Casual Wear Notched Lapel<br>Full Sleeve Solid Buttons Regular Sleeves<br>Mid Fashion Womens Blazers | 62043200 | 6.00 | PCS  | 2,399.60 | 14,397.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 719.88 |
| 12  | Non Hooded Scuba Circular Knit Regular<br>Slim Fit Zip Solid Light Winter AW-24<br>Beatnik Casual Wear High Neck Full Sleeve<br>Solid Zip Regular Sleeves Basic Essential<br>Core Womens Sweatshirts  | 61102000 | 9.00 | PCS  | 999.60   | 8,996.40  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 449.82 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

**Authorised Signatory** 

Name

For

Sign:

Page: 5/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR,

MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No Transporter Name** : 03AACCZ3447M1Z3 Vehicle No

Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |   |          |       |      |          |           |      | (    | CGST   | 9.   | SGST   |      | IGST   |
|-----|---|----------|-------|------|----------|-----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods  | HSN Code | Qty   | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 13  | Three Button Blazer Wool Woven Longline<br>Regular Button Solid Heavy Winter AW-22<br>Beatnik Casual Wear Notched Lapel Full<br>Sleeve Textured Buttons Regular Sleeves<br>Mid Fashion Womens Blazers               | 62043200 | 6.00  | PCS  | 2,399.60 | 14,397.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 719.88 |
| 14  | Pull Over Viscose Blend Flat Knit Regular<br>Regular Pull On Closure Embellished Light<br>Winter AW-24 Beatnik Party Wear Round<br>Neck Full Sleeve Solid Embroidery Regular<br>Sleeves Mid Fashion Womens Sweaters | 61101120 | 11.00 | PCS  | 1,399.60 | 15,395.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 769.78 |
| 15  | Hooded Fleece Circular Knit Regular<br>Regular Pull On Closure Solid Light Winter<br>AW-23 Beatnik Casual Wear Hood Full<br>Sleeve Textured Brand Logo Ruffled Sleeves<br>Mid Fashion Womens Sweatshirts            | 61103010 | 3.00  | PCS  | 999.60   | 2,998.80  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 149.94 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

Name

Designation

**Authorised Signatory** 

For

Sign:

Page: 6/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** 

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |   |          |       |      |          |          |      | (    | CGST   | 9    | SGST   |      | IGST   |
|-----|---|----------|-------|------|----------|----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods  | HSN Code | Qty   | Unit | Rate     | Amount   | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 16  | Front Open Velvet Woven Regular Regular<br>Button Solid Winter SS-23 Beatnik Casual<br>Wear Stand Collar Full Sleeve Textured<br>Buttons Regular Sleeves Mid Fashion<br>Adjuster                            | 62043200 | 6.00  | PCS  | 1,399.60 | 8,397.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 419.88 |
| 17  | Pull Over Poly Knit Flat Knit Regular<br>Regular Pull On Closure Solid Light Winter<br>AW-23 Beatnik Evening Wear Round Neck<br>Full Sleeve Textured Glitter Regular<br>Sleeves Mid Fashion Womens Sweaters | 61102000 | 11.00 | PCS  | 599.60   | 6,595.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 329.78 |
| 18  | Pull Over Viscose Blend Flat Knit Regular<br>Regular Pull On Closure Self Light Winter<br>AW-24 Beatnik Casual Wear Turtle Neck Full<br>Sleeve Solid None Regular Sleeves Mid<br>Fashion Womens Sweaters    | 61101120 | 3.00  | PCS  | 999.60   | 2,998.80 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 149.94 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 7/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** 

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |  |          |       |      |          |           |      | (    | CGST   | 9    | SGST   |      | IGST     |
|-----|--|----------|-------|------|----------|-----------|------|------|--------|------|--------|------|----------|
| SNo | Description of Goods   | HSN Code | Qty   | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount   |
|     | Non Hooded Roma Woven Regular Loose<br>Fit Pull On Closure Embossed Light Winter<br>AW-24 Beatnik Casual Wear Round Neck<br>Full Sleeve Solid Embossed Regular Sleeves<br>Commercial Low Fashion Womens<br>Sweatshirts | 61103010 | 9.00  | PCS  | 919.60   | 8,276.40  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 413.82   |
| 20  | Front Open Blazer Suede Woven Hip<br>Length Regular Button Solid Heavy Winter<br>AW-24 Beatnik Casual Wear Notched Lapel<br>Full Sleeve Solid Buttons Regular Sleeves<br>Mid Fashion Womens Blazers                    | 62043300 | 10.00 | PCS  | 2,399.60 | 23,996.00 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 1,199.80 |
| 21  | Pull Over Polyester Flat Knit Regular<br>Regular Pull On Closure Printed Light<br>Winter AW-23 Beatnik Evening Wear Scoop<br>Neck Full Sleeve Geometric None Regular<br>Sleeves High Fashion Womens Sweaters           | 61102000 | 6.00  | PCS  | 1,199.60 | 7,197.60  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 359.88   |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

Sign:

For

**Authorised Signatory** 

Name

Page: 8/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603

**GST No Transporter Name** : 03AACCZ3447M1Z3

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |  |          |      |      |          |           |      |      | CGST   | 9    | SGST   |      | IGST   |
|-----|--|----------|------|------|----------|-----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods   | HSN Code | Qty  | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 22  | Front Open Blazer Jacquard Woven<br>Regular Straight Button Solid Heavy Winter<br>AW-23 Beatnik Casual Wear Shawl Collar<br>Full Sleeve Textured Buttons Regular<br>Sleeves Mid Fashion Womens Blazers | 61043200 | 6.00 | PCS  | 2,399.60 | 14,397.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 719.88 |
| 23  | Quilted Polyester Woven Hip Length Fitted<br>Button & Zip Solid Heavy Winter AW-22<br>Beatnik Casual Wear Hooded Sleeveless<br>Textured Zip Sleevesless Mid Fashion<br>Womens Jackets                  | 62043300 | 4.00 | PCS  | 1,119.60 | 4,478.40  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 223.92 |
| 24  | Womens SweatersCardigan Wool Blend Flat<br>Knit Regular Regular Button Solid Light<br>Winter AW-24 Beatnik 0   | 61101120 | 6.00 | PCS  | 1,199.60 | 7,197.60  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 359.88 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 9/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** 

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |  |          |       |      |          |           |      |      | CGST   |      | SGST   |      | IGST     |
|-----|--|----------|-------|------|----------|-----------|------|------|--------|------|--------|------|----------|
| SNo | Description of Goods   | HSN Code | Qty   | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount   |
| 25  | Puffer Polyester Woven Hip Length Fitted<br>Zip Solid Heavy Winter AW-24 Beatnik<br>Evening Wear Hooded Full Sleeve Solid Zip<br>Regular Sleeves High Fashion Womens<br>Jackets                          | 62043300 | 31.00 | PCS  | 1,719.60 | 53,307.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 2,665.38 |
| 26  | Puffer Polyester Woven Hip Length Regular<br>Zip Cut & Sew Heavy Winter AW-24 Beatnik<br>Casual Wear Hooded Full Sleeve Solid<br>Zipper Details Regular Sleeves Mid Fashion<br>Womens Jackets            | 62043300 | 8.00  | PCS  | 1,599.60 | 12,796.80 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 639.84   |
| 27  | Puffer Polyester Woven Regular Regular<br>Zip Solid Heavy Winter AW-24 Beatnik<br>Casual Wear Detachable Hood Full Sleeve<br>Solid Zipper Details Regular Sleeves Basic<br>Essential Core Womens Jackets | 62043300 | 33.00 | PCS  | 1,479.60 | 48,826.80 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 2,441.34 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 10/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No Transporter Name** : 03AACCZ3447M1Z3

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |  |          |       |      |          |           |      |      | CGST   |      | SGST   |      | IGST     |
|-----|--|----------|-------|------|----------|-----------|------|------|--------|------|--------|------|----------|
| SNo | Description of Goods   | HSN Code | Qty   | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount   |
| 28  | Front Open Blazer Jacquard Woven<br>Regular Straight Button Printed Heavy<br>Winter AW-23 Beatnik Casual Wear Shawl<br>Collar Full Sleeve Textured Buttons Regular<br>Sleeves Mid Fashion Womens Blazers | 62043300 | 4.00  | PCS  | 1,999.60 | 7,998.40  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 399.92   |
| 29  | Cardigan Acrylic Flat Knit Regular Loose<br>Fit Zip Stripes Light Winter AW-24 Beatnik<br>Casual Wear Round Neck Full Sleeve Stripes<br>Zip Regular Sleeves Mid Fashion Womens<br>Sweaters               | 61101120 | 6.00  | PCS  | 1,399.60 | 8,397.60  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 419.88   |
| 30  | Three Button Blazer Suede Woven Longline<br>Fitted Button Solid Heavy Winter AW-24<br>Beatnik Evening Wear Notched Lapel Full<br>Sleeve Solid Buttons Regular Sleeves Mid<br>Fashion Womens Blazers      | 62043200 | 10.00 | PCS  | 2,399.60 | 23,996.00 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 1,199.80 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 11/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR,

MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No Transporter Name** : 03AACCZ3447M1Z3

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |  |          |       |      |          |           |      | (    | CGST   | 9.   | SGST   |      | IGST     |
|-----|--|----------|-------|------|----------|-----------|------|------|--------|------|--------|------|----------|
| SNo | Description of Goods   | HSN Code | Qty   | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount   |
| 31  | Single Breasted Blazer Tweed Woven Longline Fitted Button Solid Heavy Winter AW-24 Beatnik Casual Wear Notched Lapel Full Sleeve Textured Buttons Regular Sleeves Mid Fashion Womens Blazers             | 62043200 | 20.00 | PCS  | 2,399.60 | 47,992.00 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 2,399.60 |
| 32  | Quilted Polyester Woven Regular Regular<br>Zip Solid Light Winter AW-23 Beatnik Casual<br>Wear Stand Collar Sleeveless Textured<br>Quilting Sleevesless Basic Essential Core<br>Womens Jackets           | 62043300 | 26.00 | PCS  | 679.60   | 17,669.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 883.48   |
| 33  | Pull Over Viscose Blend Flat Knit Regular<br>Regular Pull On Closure Self Light Winter<br>AW-24 Beatnik Casual Wear Turtle Neck Full<br>Sleeve Solid None Regular Sleeves Mid<br>Fashion Womens Sweaters | 61101120 | 3.00  | PCS  | 999.60   | 2,998.80  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 149.94   |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For Sign:

**Authorised Signatory** 

Name

Page: 12/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** Vehicle No

Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 : Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee : ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|    |   |          |      |      |          |           |      |      | CGST   |      | SGST   |       | IGST     |
|----|---|----------|------|------|----------|-----------|------|------|--------|------|--------|-------|----------|
| SI | No Description of Goods   | HSN Code | Qty  | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate  | Amount   |
| 3  | 4 Front Open Blazer Wool Woven Longline<br>Slim Fit Front Open Solid Heavy Winter AW-<br>23 Beatnik Casual Wear Shawl Collar Full<br>Sleeve Textured Buttons Regular Sleeves<br>Mid Fashion Womens Blazers                        | 61043300 | 4.00 | PCS  | 3,199.60 | 12,798.40 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 18.00 | 2,303.70 |
| 3  | 5 Cardigan Acrylic Flat Knit Regular Regular<br>Pull On Closure Stripes Light Winter AW-24<br>Beatnik Casual Wear Spread Collar Full<br>Sleeve Stripes Bow Regular Sleeves Mid<br>Fashion Womens Sweaters                         | 61101120 | 3.00 | PCS  | 999.60   | 2,998.80  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00  | 149.94   |
| 3  | 6 Non Hooded French Terry Circular Knit Hip<br>Length Loose Fit Pull On Closure Solid Light<br>Winter AW-23 Beatnik Casual Wear Round<br>Neck Full Sleeve Textured Patch Work<br>Cuffed Sleeves Mid Fashion Womens<br>Sweatshirts | 61102000 | 4.00 | PCS  | 999.60   | 3,998.40  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00  | 199.92   |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.

Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

**Authorised Signatory** Name

Designation

For

Sign:

Page: 13/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No Transporter Name** : 03AACCZ3447M1Z3

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |   |          |       |      |          |           |      | (    | CGST   | 9    | SGST   |      | IGST     |
|-----|---|----------|-------|------|----------|-----------|------|------|--------|------|--------|------|----------|
| SNo | Description of Goods  | HSN Code | Qty   | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount   |
| 37  | One Button Blazer Cotton Blend Woven<br>Regular Regular Button Solid Heavy Winter<br>AW-24 Beatnik Formal Wear Shawl Collar<br>Full Sleeve Textured Buttons Regular<br>Sleeves Mid Fashion Womens Blazers | 62043300 | 14.00 | PCS  | 1,599.60 | 22,394.40 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 1,119.72 |
| 38  | Bomber Polyester Circular Knit Regular<br>Loose Fit Button Self Heavy Winter AW-24<br>Beatnik Party Wear Stand Collar Full Sleeve<br>Textured Lurex Cuffed Sleeves High<br>Fashion Womens Jackets         | 62043300 | 7.00  | PCS  | 1,599.60 | 11,197.20 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 559.86   |
| 39  | Front Open LUREX Woven Regular Fitted<br>Button Solid Light Winter AW-24 Beatnik<br>Party Wear Collar Less Full Sleeve Solid<br>Blings Regular Sleeves High Fashion<br>Womens Jackets                     | 62043300 | 8.00  | PCS  | 1,599.60 | 12,796.80 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 639.84   |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 14/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR,

MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** 

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee : ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

Tin / GST / 09AABCZ9141K1ZT Tin / GST : / 09AABCZ9141K1ZT

|     |  |          |      |      |          |          |      | (    | CGST   |      | SGST   |      | IGST   |
|-----|--|----------|------|------|----------|----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods   | HSN Code | Qty  | Unit | Rate     | Amount   | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 40  | Cardigan Wool Blend Flat Knit Crop<br>Regular Button Solid Light Winter AW-24<br>Beatnik Party Wear Round Neck Full Sleeve<br>Textured Buttons Regular Sleeves Basic<br>Essential Core Womens Sweaters   | 61101120 | 6.00 | PCS  | 1,399.60 | 8,397.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 419.88 |
| 41  | Front Open Tweed Woven Regular Fitted<br>Button Solid Heavy Winter AW-24 Beatnik<br>Casual Wear Collar Less Full Sleeve Check<br>Buttons Regular Sleeves Mid Fashion<br>Womens Jackets                   | 62043300 | 6.00 | PCS  | 1,399.60 | 8,397.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 419.88 |
| 42  | Pull Over Wool Flat Knit Regular Regular<br>Pull On Closure Solid Light Winter AW-22<br>Beatnik Casual Wear Round Neck Full<br>Sleeve Textured Brand Logo Regular<br>Sleeves Mid Fashion Womens Sweaters | 61101120 | 3.00 | PCS  | 759.60   | 2,278.80 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 113.94 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

**Authorised Signatory** Name

Designation

For

Sign:

Page: 15/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR,

MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** 

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |  |          |       |      |          |           |      | (    | CGST   | 9    | SGST   |      | IGST   |
|-----|--|----------|-------|------|----------|-----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods   | HSN Code | Qty   | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 43  | Front Open Poly Knit Flat Knit Regular<br>Regular Button Solid Light Winter AW-23<br>Beatnik Evening Wear Round Neck Full<br>Sleeve Abstract Sequins Regular Sleeves<br>Mid Fashion Womens Sweaters          | 61102000 | 6.00  | PCS  | 1,399.60 | 8,397.60  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 419.88 |
| 44  | Cardigan Acrylic Flat Knit Regular Regular<br>Button Stripes Light Winter AW-24 Beatnik<br>Casual Wear Round Neck Full Sleeve Stripes<br>Buttons Regular Sleeves Core with Fashion<br>Touch Womens Sweaters  | 61101120 | 6.00  | PCS  | 999.60   | 5,997.60  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 299.88 |
| 45  | Single Breasted Blazer Twill Woven Regular<br>Regular Button Solid Autumn (Pre-Winter)<br>AW-24 Beatnik Formal Wear Notched Lapel<br>Full Sleeve Solid Buttons Regular Sleeves<br>Mid Fashion Womens Blazers | 62043300 | 10.00 | PCS  | 1,399.60 | 13,996.00 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 699.80 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 16/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** 

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |   |          |      |      |          |          |      | (    | CGST   | 9    | SGST   |      | IGST   |
|-----|---|----------|------|------|----------|----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods  | HSN Code | Qty  | Unit | Rate     | Amount   | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 46  | Non Hooded Velvet Circular Knit Regular<br>Regular Zip Solid Light Winter AW-24<br>Beatnik Casual Wear High Neck Full Sleeve<br>Solid Zip Regular Sleeves Mid Fashion<br>Womens Sweatshirts                                       | 61103010 | 1.00 | PCS  | 799.60   | 799.60   | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 39.98  |
| 47  | Non Hooded Velvet Circular Knit Regular<br>Regular Zip Solid Light Winter AW-24<br>Beatnik Casual Wear High Neck Full Sleeve<br>Solid Zip Regular Sleeves Mid Fashion<br>Womens Sweatshirts                                       | 61103010 | 3.00 | PCS  | 799.60   | 2,398.80 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 119.94 |
| 48  | Non Hooded Scuba Circular Knit Regular<br>Regular Pull On Closure Embroidered Light<br>Winter AW-24 Beatnik Casual Wear Round<br>Neck Full Sleeve Solid Hand work Raglan<br>Sleeves Core with Fashion Touch Womens<br>Sweatshirts | 61103010 | 6.00 | PCS  | 1,079.60 | 6,477.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 323.88 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 17/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** 

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |   |          |       |      |          |           |      | (    | CGST   | 9    | SGST   |      | IGST   |
|-----|---|----------|-------|------|----------|-----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods  | HSN Code | Qty   | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 49  | Leather Faux Leather Woven Regular<br>Fitted Button Solid Heavy Winter AW-23<br>Beatnik Casual Wear Spread Collar Full<br>Sleeve Textured Buttons Cuffed Sleeves<br>Mid Fashion Adjuster                | 62043300 | 5.00  | PCS  | 1,199.60 | 5,998.00  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 299.90 |
| 50  | Hooded Fleece Circular Knit Regular<br>Regular Drawstring Solid Light Winter AW-<br>23 Beatnik Casual Wear V-Neck Full Sleeve<br>Textured Block Print Regular Sleeves Mid<br>Fashion Womens Sweatshirts | 61102000 | 6.00  | PCS  | 999.60   | 5,997.60  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 299.88 |
| 51  | Two Button Blazer Twill Woven Regular<br>Regular Button Solid Light Winter AW-24<br>Beatnik Casual Wear Notched Lapel Full<br>Sleeve Solid Blings Regular Sleeves Mid<br>Fashion Womens Blazers         | 62043300 | 10.00 | PCS  | 1,999.60 | 19,996.00 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 999.80 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.

Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

Sign:

**Authorised Signatory** 

Name

For

Page: 18/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR,

MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No Transporter Name** : 03AACCZ3447M1Z3

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |   |          |      |      |          |          |      | (    | CGST   |      | SGST   |      | IGST   |
|-----|---|----------|------|------|----------|----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods  | HSN Code | Qty  | Unit | Rate     | Amount   | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 52  | Pull Over Poly Knit Flat Knit Regular<br>Regular Pull On Closure Solid Light Winter<br>AW-23 Beatnik Evening Wear Round Neck<br>Full Sleeve Textured Glitter Regular<br>Sleeves Mid Fashion Womens Sweaters | 61102000 | 1.00 | PCS  | 599.60   | 599.60   | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 29.98  |
| 53  | Front Open Denim Woven Regular Regular<br>Button Solid Light Winter AW-24 Beatnik<br>Casual Wear Double Collar Full Sleeve Twill<br>Buttons Regular Sleeves Mid Fashion<br>Womens Jackets                   | 62043300 | 8.00 | PCS  | 1,119.60 | 8,956.80 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 447.84 |
| 54  | Non Hooded French Terry Woven Regular<br>Regular Pull On Closure Solid Light Winter<br>AW-24 Beatnik Casual Wear Round Neck<br>Full Sleeve Solid Hand work Raglan Sleeves<br>Mid Fashion Womens Sweatshirts | 61103010 | 1.00 | PCS  | 1,079.60 | 1,079.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 53.98  |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 19/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No Transporter Name** : 03AACCZ3447M1Z3

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |  |          |      |      |        |          |      |      | CGST   |      | SGST   |      | IGST   |
|-----|--|----------|------|------|--------|----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods   | HSN Code | Qty  | Unit | Rate   | Amount   | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 55  | Non Hooded Scuba Circular Knit Regular<br>Slim Fit Zip Solid Light Winter AW-24<br>Beatnik Casual Wear High Neck Full Sleeve<br>Solid Zip Regular Sleeves Basic Essential<br>Core Womens Sweatshirts     | 61102000 | 2.00 | PCS  | 999.60 | 1,999.20 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 99.96  |
| 56  | Cardigan Nylon Flat Knit Crop Regular Pull<br>On Closure Solid Light Winter AW-24<br>Beatnik Casual Wear V-Neck Full Sleeve<br>Textured Buttons Bell Sleeves Core with<br>Fashion Touch Womens Sweaters  | 61101120 | 4.00 | PCS  | 919.60 | 3,678.40 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 183.92 |
| 57  | Pull Over Wool Flat Knit Regular Regular<br>Pull On Closure Solid Light Winter AW-22<br>Beatnik Casual Wear Round Neck Full<br>Sleeve Textured Brand Logo Regular<br>Sleeves Mid Fashion Womens Sweaters | 61101120 | 1.00 | PCS  | 759.60 | 759.60   | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 37.98  |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 20/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** Vehicle No

Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |   |          |      |      |          |          |      | (    | CGST   | 9    | SGST   |      | IGST   |
|-----|---|----------|------|------|----------|----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods  | HSN Code | Qty  | Unit | Rate     | Amount   | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 58  | Leather Faux Leather Woven Regular<br>Fitted Button Solid Heavy Winter AW-23<br>Beatnik Casual Wear Spread Collar Full<br>Sleeve Textured Buttons Cuffed Sleeves<br>Mid Fashion Adjuster                            | 62043300 | 1.00 | PCS  | 1,199.60 | 1,199.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 59.98  |
| 59  | Pull Over Polyester Flat Knit Regular Slim<br>Fit Pull On Closure Solid Light Winter AW-<br>23 Beatnik Casual Wear Turtle Neck Full<br>Sleeve Textured None Regular Sleeves Basic<br>Essential Core Womens Sweaters | 61102000 | 6.00 | PCS  | 599.60   | 3,597.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 179.88 |
| 60  | Puffer Nylon Woven Regular Regular Zip<br>Solid Heavy Winter AW-24 Beatnik Casual<br>Wear Hooded Sleeveless Solid Zip<br>Sleevesless Core with Fashion Touch<br>Womens Jackets                                      | 61043300 | 8.00 | PCS  | 1,199.60 | 9,596.80 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 479.84 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 21/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No Transporter Name** : 03AACCZ3447M1Z3

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |  |          |      |      |          |           |      | (    | CGST   |      | SGST   |      | IGST   |
|-----|--|----------|------|------|----------|-----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods   | HSN Code | Qty  | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 61  | Front Open Blazer Yarn Dyed Woven<br>Regular Regular Front Open Solid Heavy<br>Winter AW-23 Beatnik Evening Wear<br>Mandarin Collar Full Sleeve Textured Lace<br>Regular Sleeves Mid Fashion Womens<br>Blazers | 62043300 | 6.00 | PCS  | 1,999.60 | 11,997.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 599.88 |
| 62  | Non Hooded French Terry Woven Regular<br>Regular Pull On Closure Solid Light Winter<br>AW-24 Beatnik Casual Wear Round Neck<br>Full Sleeve Solid Hand work Raglan Sleeves<br>Mid Fashion Womens Sweatshirts    | 61103010 | 9.00 | PCS  | 1,079.60 | 9,716.40  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 485.82 |
| 63  | Cardigan Acrylic Flat Knit Regular Regular<br>Pull On Closure Stripes Light Winter AW-24<br>Beatnik Casual Wear Spread Collar Full<br>Sleeve Stripes Bow Regular Sleeves Mid<br>Fashion Womens Sweaters        | 61101120 | 1.00 | PCS  | 999.60   | 999.60    | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 49.98  |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

**Authorised Signatory** 

Name

For

Sign:

Page: 22/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR,

MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** 

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |  |          |      |      |          |           |      | (    | CGST   |      | SGST   |      | IGST   |
|-----|--|----------|------|------|----------|-----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods   | HSN Code | Qty  | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 64  | Womens BlazersDeep Lapel Blazer Twill<br>Woven Crop Straight Button Printed Heavy<br>Winter AW-23 Beatnik  | 62043300 | 6.00 | PCS  | 1,999.60 | 11,997.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 599.88 |
| 65  | Non Hooded Scuba Circular Knit Regular<br>Slim Fit Zip Solid Light Winter AW-24<br>Beatnik Casual Wear High Neck Full Sleeve<br>Solid Zip Regular Sleeves Basic Essential<br>Core Womens Sweatshirts     | 61102000 | 1.00 | PCS  | 999.60   | 999.60    | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 49.98  |
| 66  | Puffer Polyester Woven Regular Regular<br>Zip Solid Heavy Winter AW-24 Beatnik<br>Casual Wear Detachable Hood Full Sleeve<br>Solid Zipper Details Regular Sleeves Basic<br>Essential Core Womens Jackets | 62043300 | 1.00 | PCS  | 1,479.60 | 1,479.60  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 73.98  |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 23/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR,

MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** 

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |  |          |      |      |          |           |      | (    | CGST   |      | SGST   |      | IGST   |
|-----|--|----------|------|------|----------|-----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods   | HSN Code | Qty  | Unit | Rate     | Amount    | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 67  | Puffer Nylon Woven Regular Fitted Zip<br>Solid Heavy Winter AW-23 Beatnik Casual<br>Wear Hooded Full Sleeve Floral Zipper<br>Details Flute Sleeves High Fashion Womens<br>Jackets  | 61043200 | 4.00 | PCS  | 1,399.60 | 5,598.40  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 279.92 |
| 68  | Hooded Fleece Circular Knit Regular<br>Oversized Zip Solid Light Winter AW-24<br>Beatnik Casual Wear Hood Full Sleeve Solid<br>Zip Raglan Sleeves High Fashion Womens<br>Sweatshirts   | 61103010 | 4.00 | PCS  | 1,079.60 | 4,318.40  | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 215.92 |
| 69  | Blazer & Pants Polyester Woven Regular<br>Slim Fit Button Solid All Weather AW-23<br>Beatnik Formal Wear Notched Lapel 3/4th<br>Sleeve Textured Buttons Regular Sleeves<br>High Fashion Foot Length Button & Zip Mid-<br>Rise Womens Western Suits | 62041300 | 5.00 | PCS  | 2,399.60 | 11,998.00 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 599.90 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 24/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR,

MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No Transporter Name** : 03AACCZ3447M1Z3 Vehicle No

Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |   |          |      |      |          |          |      | (    | CGST   |      | SGST   |      | IGST   |
|-----|---|----------|------|------|----------|----------|------|------|--------|------|--------|------|--------|
| SNo | Description of Goods  | HSN Code | Qty  | Unit | Rate     | Amount   | Disc | Rate | Amount | Rate | Amount | Rate | Amount |
| 70  | Non Hooded Scuba Circular Knit Regular<br>Slim Fit Zip Solid Light Winter AW-24<br>Beatnik Casual Wear High Neck Full Sleeve<br>Solid Zip Regular Sleeves Basic Essential<br>Core Womens Sweatshirts                | 61102000 | 1.00 | PCS  | 999.60   | 999.60   | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 49.98  |
| 71  | Pull Over Viscose Blend Flat Knit Regular<br>Regular Pull On Closure Embellished Light<br>Winter AW-24 Beatnik Party Wear Round<br>Neck Full Sleeve Solid Embroidery Regular<br>Sleeves Mid Fashion Womens Sweaters | 61101120 | 1.00 | PCS  | 1,399.60 | 1,399.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 69.98  |
| 72  | Puffer Polyester Woven Hip Length Fitted<br>Zip Solid Heavy Winter AW-24 Beatnik<br>Evening Wear Hooded Full Sleeve Solid Zip<br>Regular Sleeves High Fashion Womens<br>Jackets                                     | 62043300 | 1.00 | PCS  | 1,719.60 | 1,719.60 | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 85.98  |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name

Page: 25/26

## **Purchase Invoice**

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR,

MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



**GST No** : 03AACCZ3447M1Z3 **Transporter Name** 

Vehicle No Tax is payable on Reverse Charge: No

Date & Time of Supply Invoice No : PI00/00044/25-26 26/11/2025 5:30 AM

Place of Supply Invoice Date : 26/11/2025 : Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

: / 09AABCZ9141K1ZT Tin / GST / 09AABCZ9141K1ZT Tin / GST

|     |   |          |        |      |          |            |      | CGST |        | SGST |        | IGST |           |
|-----|---|----------|--------|------|----------|------------|------|------|--------|------|--------|------|-----------|
| SNo | Description of Goods  | HSN Code | Qty    | Unit | Rate     | Amount     | Disc | Rate | Amount | Rate | Amount | Rate | Amount    |
| 73  | Bomber Polyester Circular Knit Regular<br>Loose Fit Button Self Heavy Winter AW-24<br>Beatnik Party Wear Stand Collar Full Sleeve<br>Textured Lurex Cuffed Sleeves High<br>Fashion Womens Jackets | 62043300 | 1.00   | PCS  | 1,599.60 | 1,599.60   | 0.00 | 0.00 | 0.00   | 0.00 | 0.00   | 5.00 | 79.98     |
|     |   |          | 499.00 |      |          | 762,160.40 | 0.00 |      | 0.00   |      | 0.00   |      | 42,683.38 |

### Terms & Conditions

- All Disputes Subject to Jhajjar (Haryana) Jurisdiction.
- Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

For

Sign:

**Authorised Signatory** 

Name Designation Page: 26/26

### Purchase Invoice

ORBIT APARTMENT CONSTRUCTION PVT. LTD., BEHIND METRO, VIP ROAD ZIRAKPUR, MOHALI, SAS Nagar, Punjab, 140603, Zirakpur (Mohali), PUNJAB - 140603



GST No : 03AACCZ3447M1Z3 **Transporter Name** Vehicle No Tax is payable on Reverse Charge: No

Invoice No : PI00/00044/25-26 Date & Time of Supply : 26/11/2025 5:30 AM

Invoice Date : 26/11/2025 Place of Supply : Greater Noida (Gautam Buddha N

**Billing Details Shipping Details** 

Party Name : Zadley India Pvt Ltd (Purchase) Consignee : ZADLEY INDIA PVT LTD & Address

: C-184, Sector 63, Noida, & Address C-184, Sector 63, Noida,

Gautam Buddha Nagar, Uttar Pradesh, Gautam Buddha Nagar, Uttar Pradesh,

Greater Noida (Gautam Buddha Nagar), Uttar Pradesh - 201301 (India) Greater Noida (Gautam Buddha Nagar), Uttar Pradesh -

201301 (India)

Tin / GST Tin / GST / 09AABCZ9141K1ZT : / 09AABCZ9141K1ZT

> Sub Total 762160.4 TaxAmount 42683.38 Round Off 0.22 Bill Amount 804844

Amount in Words: ₹ Eight Lac Four Thousand Eight Hundred Forty Four Only

Amount of Tax Subject to Reverse Charge 0.00 0.00 0.00

For

Sign:

#### Certified that the Particulars given above are true and correct

# **Electronic Reference No**

### Terms & Conditions

All Disputes Subject to Jhajjar (Haryana) Jurisdiction.

Our Responsible Ceases Of as Soon as the Goods are Handed Over to the Carrier.

**Authorised Signatory** 

Name Designation